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LVST Englisch - Ereignisse, die die Welt verandert haben

2" February 1943
The Germans Surrender
at Stalingrad

Task: Lies zuerst diesen Text aufmerksam durch und
bearbeite ihn mit den dir bekannten Lesemethoden fiir Leseverstehen.

Danach siehst du optional einen Filmausschnitt, der die Informationen aus dem Text vertieft.

Beantworte danach die Fragen ab Seite 2.

«When it comes to conflict, the names of certain locations
conjure up images of hell on earth, and when the German
6" Army finally surrendered at Stalingrad on 2" February
1943, it seemed that the Russian port had been visited by
the apocalypse. A key position on the military map, the city
had been besieged by the enemy since the August of 1942.
Synonymous with slaughter, Stalingrad had seen destruc-
tion and death on a biblical scale, with estimates suggesting
that 150,000 German forces perished in the battle — while
over 90,000 were taken prisoner. The casualty rate on the
Russian side was diabolical as well, as the civilian popula-
tion was bombarded by the Luftwaffe. But the shortage of
supplies from the air made the German situation hopeless
by December 1942. The troops were surrounded in freezing
temperatures, and some of the men resorted to eating their
own horses. Mercilessly, Adolf Hitler had implemented a no-
surrender policy at Stalingrad, but Field Marshal Paulus
was no fool. Faced with impossible odds, the German
commander threw in the towel. A forced march to Siberia
awaited the vanquished. Stalin’s mighty city had not fallen.»

Film: Der Filmclip gibt dir vertieftere Einblicke in das Thema und kann dir firs Textver-
standis helfen: https://youtu.be/3NK-uz-Fifl
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Fragen zum Text
Antworte wenn immer mdglich in ganzen Satzen. Da es ein Leseverstehen ist, stellen wir die
Fragen auf Deutsch. Du antwortest ebenfalls auf Deutsch.

1. Wann sah der russische Hafen Stalingrad aus wie von einer Apokalypse heimge-
sucht?

3. Wie viele Soldaten fielen zum Opfer?
U 150'000 Tote und gleichviele Gefangene
U 90'000 Tote und 150'000 Gefangene
U 90'000 Gefangene und 150'000 Tote

4 Hitler war derjenige, der entschied, dass die Lage aussichtslos ist und Deutschland
aufgeben muss.

U richtig
U falsch

5. Wenn du falsch angekreuzt hast, wer war es dann?

6. Mit welchen Problemen hatten die Deutschen zu kampfen wahrend der Belage-
rung von Stalingrad?
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